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buHoOM HbOTOHA

* Obwana dopmyna

n

(a+b)" = 2 Cram™~kpk,
k=0
* HacTHble cayyau
(a +b)° =1,
(a+ b)) =a+b,
(a + b)? = a? + 2ab + b?,
(a + b)3 = a3 + 3a?b + 3ab? + b>.



bHOMMaNbHbIE KOADDULNEHTDI

* 3anucb Yyepes bakTopumanbl

" n!
Cn = k!(n—k)!
iy
Ck :n(n—1)~-(n—k+1).
k!
* CBA3b MeXAay 3anmcamu
n! _(n—k)!((n—k)+1)((n—k)+2)---n_
K'(n—k)! kK!'(n—k)! -

_ (n — (k — 1))(n — (k — 2)) +(n—1n
k! '




CBoncTBa BMHOMMANBHbBIX KOIQPULNEHTOB

e Cl=1=Cr"1.
eCk=ckl+cCct ,,1<k<n-1 n=2.
e Ck . =CkrT+Ck, 1<k<n n>1

eCtl=ck+Cckl, 0<k<n-1,n>1.
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[lpyroe o603HavyeHune

e O6paTnUTE BHMMAHME Ha NOPAAOK PAaCNONOKEHUA NHOEKCOB:

ci= ()



